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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529279
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105297477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052929401. 1

21052929402. 2

21052929403. 3

21052929404. 4

Question Number : 1 Question Id : 2105297477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929401 1

21052929402 2

21052929403, 3

21052929404, 4

Question Number : 2 Question Id : 2105297478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, Cand D only
4.C, D and E only



Options :

21052929405. 1
21052929406. 2
21052929407. 3
21052929408. 4

Question Number : 2 Question Id : 2105297478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929405, 1
21052929406. 2
21052929407. 3
21052929408, 4




Question Number : 3 Question Id : 2105297479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person’s self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. D and E only
Options :
21052929409. 1
21052929410. 2
21052929411. 3
21052929412. 4

Question Number : 3 Question Id : 2105297479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929409. 1
21052929410. 2
21052929411. 3
21052929412. 4

Question Number : 4 Question Id : 2105297480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Scale of measurement Properties
A. Nominal . Classification and order
B. Ordinal . Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IL,C-1IV,D-1
4AA-IVB-I,C-1,D-1
Options :
21052929413. 1
21052929414. 2
21052929415. 3
21052929416. 4

Question Number : 4 Question Id : 2105297480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-ILB-ILC-1V,D-I
4 A-IV,B-LC-II,D-1I
Options :

21052929413. 1
21052929414. 2
21052929415.3
21052929416. 4

Question Number : 5 Question Id : 2105297481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929417. 1

21052929418. 2

21052929419. 3

21052929420. 4

Question Number : 5 Question Id : 2105297481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929417. 1

21052929418. 2

21052929419. 3
21052929420. 4

Question Number : 6 Question Id : 2105297482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052929421. 1



21052929422. 2
21052929423. 3
21052929424. 4

Question Number : 6 Question Id : 2105297482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. ST STHe
Options :
21052929421. 1
21052929422. 2
21052929423.3
21052929424. 4

Question Number : 7 Question Id : 2105297483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement |I: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052929425. 1

21052929426. 2

21052929427. 3

21052929428. 4

Question Number : 7 Question Id : 2105297483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929425. 1
21052929426. 2
21052929427.3
21052929428. 4

Question Number : 8 Question Id : 2105297484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | List Il
Key research terms Description
A. Research problems . Devices using which data are gathered

B. Research hypothesis
P II. A subset drawn from a defined set or universe

. & tentative solution or answer to a research
C. Sample of study

question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-N,C-1,D-1
ZA-ILB-IL,C-1,D-1IV
3A-LB-1IL,C-11,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

21052929429. 1
21052929430. 2
21052929431. 3



21052929432. 4

Question Number : 8 Question Id : 2105297484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,E-U,C-1l,D-1
2ZA-ILB-ILC-1,D-1V
SA-LB-1IL,C-N,D-1V
4AA-1ILB-IV,C-1,D-1I
Options :

21052929429. 1
21052929430. 2
21052929431. 3
21052929432. 4

Question Number : 9 Question Id : 2105297485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2A B CDE
3ACEBDE
4 B, A CDE
Options :
21052929433. 1
21052929434. 2
21052929435. 3
21052929436. 4

Question Number : 9 Question Id : 2105297485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A DB CE
2 A B CDE
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Options :

21052929433. 1
21052929434. 2
21052929435.3
21052929436. 4

Question Number : 10 Question Id : 2105297486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand E only
4. D and E only
Options :
21052929437. 1
21052929438. 2
21052929439. 3
21052929440. 4

Question Number : 10 Question Id : 2105297486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929437 1
21052929438, 2

21052929439. 3
21052929440. 4

Sub-Section Number : 2
Sub-Section Id : 210529280
Question Shuffling Allowed : Yes

Question Id : 2105297487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is also one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many companies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product's price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors' strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105297488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052929441. 1

21052929442.2

21052929443. 3

21052929444. 4

Question Number : 12 Question Id : 2105297489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. Itis rigid in character

4. It ensures channel commitment
Options :

21052929445. 1

21052929446. 2

21052929447. 3

21052929448. 4

Question Number : 13 Question Id : 2105297490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052929449. 1

21052929450. 2

21052929451.3

21052929452. 4

Question Number : 14 Question Id : 2105297491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052929453. 1

21052929454. 2

21052929455. 3

21052929456. 4

Question Number : 15 Question Id : 2105297492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, Band Conly
3.C, D and E only
4. B, Cand D only
Options :
21052929457. 1
21052929458. 2
21052929459. 3
21052929460. 4

Question Id : 2105297487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension



Frafafed Tem S arygde 0e iR ust & I g :

Yopiviay ol ¥ o B4l g suar il Tar o fau g4I =RI7 Bkl 81 3HfYS s
&Y H ®iFd 34 94 gedl &1 g & [ 3uMiedl fdl Iadre 41 Ual & o+ 1 3YHT WaRT $H-
& Tl B U &3 & AU &d e] Ueit® 9 ¥, $Hd odl ®f 9ug @l UYifad & aral
WE ®Ra el gl qUIMY, | & @ §, IR - $Id SR®I B Hew agdl o @l gl b o,
HId B0 BH & auR B R aryvedl @1 Huiid $34 910 Jaiiie Jew@qul dal 3§ 4 0@
s el

fquuH-fayur 4 ®i9d U UTHHE o & o 3 3fold Bl & : 39 91, 9@ ad &xiid 8 | dHd
fauuE firsor & dal o Gaide dEgi| ddl 4 ¥ U@ gl IdG faumared iR gaen g
WidaSdrl § 31T, HIFd ®f el ¥ 9eal o Yhdl &1 T4 & 9y HiFd [H4Ro o s fauuH
SAGING! & THE AT Ty Ugdl Y01 6, AR 3H® HU-dl HIHd HuUR B 99 Res
0 H §Ed g 3R 396 o [GuuH e & o/ ddl R IF $iad &3 &I HTEHT od 8
JYITY BRI YD SIAd FURU S JuMiadr God giord - O1 U B3 &1 U JE SE-iad
e AHd €1 SiHdl @ {6l BH &1 Hd T9H1 U Ude WHIE Usdl g1 diEd J dig 9 wiaed
QYR Y THYEdl & Hidd J 4RI g 8 Yobdl g1 s qewayul € fos Hu-l & 999 Jod a1
& YA & &0 T, Hd IUHlEd Jed giord ©4 SR IuMiad 49y & [ai o agwaqul Y
Hal Bl &| U fa=ivg - el €, “PHd F4Ro ¥ 994 & 991 Y9eR [auyuHad] 39 U
w®El"

ST GRI TR SIS dreil IFd T 3Hold B34 &1 A9 & Hd HR 771 fold S $i P
Y e Hd & 49 5 Al 61 98 d1d DIEd HYR T HH ard fGaR! &1 9RIR €1 346 &
g Jaet IuYiadr &1 aiy &l &1 Mftead 9|1 99 &l ¢ | 3fe SuMedl 993 § [ 3dG
] BHd 390 g ¥ AT € 9 39 3dIG Bl el TG | 341 UPR, 301G B aNld ®Hdl &
TATH TR DI 70 Bl 5| Tie Hu-l fbdl IdTg B DIFd IGB! AR 9 B HeiRg Sl g
S & Y B 61 G| 34 &Hl BRI & &9 B HuiRd & & Y Su-1 &1 ufowafiar o1
HITAET SR Siad, 999 faguE S SR Yo 9yl S9R 91 31 Ueid 9ied i 918 $iR
HIdNE BRBI R [FIR HAT 1|




Sub questions

Question Number : 11 Question Id : 2105297488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929441. 1

21052929442, 2

21052929443, 3

21052929444, 4

Question Number : 12 Question Id : 2105297489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929445, 1

21052929446. 2

21052929447. 3

21052929448, 4

Question Number : 13 Question Id : 2105297490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052929449. 1

21052929450. 2

21052929451. 3

21052929452. 4

Question Number : 14 Question Id : 2105297491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929453. 1

21052929454, 2

21052929455. 3

21052929456. 4

Question Number : 15 Question Id : 2105297492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG ST Harefl @i Ha ®I HIfad a1 Feid & aTed 3 RS dH-4 g 7
A. Uiaegfifal ot YorEifa

B. gAY fauur fago

C. 9I9IR &1 YbR

D. Tth WIdlie ¥ GeRl WD b diHd MR

E. TSR sl Bl BIHd YU

Hel faded g -

1. Bad A, D 3R E
2. BAUA, B AR C
3. AU C, D 3R E
4, &da B, C AR D
Options :
21052929457. 1
21052929458. 2
21052929459, 3
21052929460. 4

Sub-Section Number : 3
Sub-Section Id : 210529281
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105297493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052929461. 1
21052929462. 2
21052929463. 3
21052929464. 4

Question Number : 16 Question Id : 2105297493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e RN, S dIsi BT A0l S d¢ldl & d9 98 aidl & ;

1. Hifd®
ERSCIGHIIEES
3. HATHD

4. &ffores
Options :
21052929461. 1
21052929462. 2
21052929463. 3
21052929464. 4

Question Number : 17 Question Id : 2105297494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A, Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052929465. 1
21052929466. 2
21052929467. 3
21052929468. 4

Question Number : 17 Question Id : 2105297494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T4 - D& TV BT © -
A. T&0-3d
B. Ycil-disd
C. GEURTHD

D. FHareR

E. TR - afdda
iq%pfﬁﬁi'_cﬂﬂ_:f:

1. &dd A 3R B
2. Had B 3R D
3. HaU A 3R C
4, HAAD ARE
Options :
21052929465. 1
21052929466. 2
21052929467, 3
21052929468, 4

Question Number : 18 Question Id : 2105297495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052929469. 1

21052929470. 2

21052929471. 3

21052929472. 4

Question Number : 18 Question Id : 2105297495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR gl P TN E : te iU () IR G TH (R) B ;

HiHYA (A) : [ = &I 964 o1 ° THIE! U H eradl Hedt B

d (R) : Uh HRc] YUYl ol H fodll e & Si--FEd Bl oiH ¥ Ugd I9d] GHIUH S|
SuYdd Syl & il H Fgifd fdeeal § 9 ¥81 ST g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR Bl o
2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) g1 B, T (R) 7T B

4. (n) a4 & g (R) TR &

Options :

21052929469. 1

21052929470. 2

21052929471. 3

21052929472. 4

Question Number : 19 Question Id : 2105297496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

. Personal

lll. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052929473. 1
21052929474. 2
21052929475. 3
21052929476. 4

Question Number : 19 Question Id : 2105297496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 ¥ Faii-11 BT FHeH &

| Tl-Ii
U0 & HRY  [[dR0
A, ReaTi® |. §RUT (=) H Hifd® wydr &1 41d
JEeEIGRIIEG 1. Ffeguf Hem
C. HfrTd 1. FiF DIfe BT HTURY
D. Hifd® V. THG BT HYG
I feu 1T famedl § O Ol IoR &1 90 @

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052929473. 1
21052929474. 2
21052929475. 3
21052929476. 4

Question Number : 20 Question Id : 2105297497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052929477. 1

21052929478. 2

21052929479. 3

21052929480. 4

Question Number : 20 Question Id : 2105297497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

HYF-1 : Gobdl 3R TP | BT 37 Ia7 B F AR G949 §iaT 2
HY-1l : I8 31 YeHil & ATend ° Tobdll & Jedd b HRU GHT gl 2
e Y1 & s B FEied Gee § 9 98 SR g -

1. @Y | 3R 11 EFT TS B

2. @Y | AR I EF T B |

3. BYH-1 9 &, foog HYH-11 Tad 2|
4. HYF-1 AT g, foog BYA-11 Gel 2




Options :

21052929477. 1
21052929478. 2
21052929479. 3
21052929480. 4

Question Number : 21 Question Id : 2105297498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1. 10 km
2. 12 km
3. 15 km
4. 18 km
Options :
21052929481. 1
21052929482. 2
21052929483. 3
21052929484. 4

Question Number : 21 Question Id : 2105297498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uah oAfdd 22 fH @1 gdl @l 4 U H 3RY H T 3R dayq Sl GIs 9 HAzk: 4 fdodly der
HIR 10 fooely HeT & 1 T 78 Bl 8| 3UD gRI dad ad B 115 gl [l 6 ?

1. 10 Tl

2. 12 fobHl.

3. 15 fobHl.

4. 18 Tl
Options :
21052929481. 1
21052929482. 2
21052929483, 3
21052929484, 4

Question Number : 22 Question Id : 2105297499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

k)

11

7

13

13

19

Options :
21052929485. 1
21052929486. 2
21052929487. 3

21052929488. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105297499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY GBA1 D1 8 3D 3 ¥ 6 318 51 Gl 3 H 4 B gl DI Wi g IREXHAY 8
mm%aﬁmgﬁraﬁ%mgtrﬁﬂumw%?

. 1
17

5
11
7
13
13
19

Options :

21052929485. 1
21052929486. 2
21052929487. 3
21052929488. 4

Question Number : 23 Question Id : 2105297500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24,60, 120, X
What is the value of term X?

1. 180
2. 210
3. 240
4,156



Options :

21052929489. 1
21052929490. 2
21052929491. 3
21052929492. 4

Question Number : 23 Question Id : 2105297500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fdifd T gaa W fdaR difey

0, 6, 24, 60, 120, X
X BIAFFE ?

. 180
2.210
3. 240
4.156
Options :
21052929489. 1
21052929490. 2
21052929491. 3
21052929492. 4

Question Number : 24 Question Id : 2105297501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052929493 1
21052929494, 2
21052929495. 3
21052929496. 4

Question Number : 24 Question Id : 2105297501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UT3Y TG S{T-3THT e ol of UH <l @l HHS: 10 e 3R 15 fme § R a@d 5
g ST Uyl &1 St B W & 1310 Us -I1Y Wi (a1 9Y ot 2ot @i W & foa1 99g @

1. 6 e

2.8 fide
3.7.5 e
4.9 e
Options :
21052929493. 1
21052929494, 2
21052929495. 3
21052929496. 4



Question Number : 25 Question Id : 2105297502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, ceqi, egik, gikm, __

1. jlor

2. hjlo

3. ikmo

4. ikmgq
Options :
21052929497. 1
21052929498. 2
21052929499. 3
21052929500. 4

Question Number : 25 Question Id : 2105297502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

uifdd e Y H ST Asa 1 BT 7

aceg, ceqgi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052929497. 1
21052929498. 2
21052929499. 3
21052929500. 4



Question Number : 26 Question Id : 2105297503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929501. 1

21052929502. 2

21052929503. 3

21052929504. 4

Question Number : 26 Question Id : 2105297503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
HIHUTYA (A) : GO0 W-HINA, W0-YTRd 3R T e arar gidi o

dd (R) : 500 30 BRG Fidl g DI el oidl & Sfcd [HHl 31 gRT YT 8idl & 3R 394 i
HETaH e el

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052929501 1

21052929502. 2

21052929503. 3

21052929504. 4

Question Number : 27 Question Id : 2105297504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjoined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929505. 1

21052929506. 2

21052929507. 3

21052929508. 4

Question Number : 27 Question Id : 2105297504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;

3t (o) @ vaefimRur gof T ¥ gad SR 7ud Udid 8id o1 d 999 81d & U e a:
Hafid 7e 8id g

dd (R) : dicb DRl DI HAENHIU 3T F1 Y HHaria: Y&ldd 21 & sulT g8 &gl ol 9hdl &
fob Ugalioeul gad ©U 4 Hafdd g

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052929505 1

21052929506. 2

21052929507. 3

21052929508, 4

Question Number : 28 Question Id : 2105297505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929509. 1

21052929510. 2

21052929511. 3

21052929512. 4

Question Number : 28 Question Id : 2105297505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
3fiyepy (A) : A e 2R i & &9 ufaeef g1 &, gy, 9T @ e unidi 81t 2

dd (R) : Y Jaf 3R IuFvel & aRfe usqs & axid &, vaie Wi e Geri @1
U N B

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052929509. 1

21052929510. 2

21052929511. 3

21052929512, 4

Question Number : 29 Question Id : 2105297506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052929513. 1
21052929514. 2
21052929515. 3
21052929516. 4



Question Number : 29 Question Id : 2105297506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fopdl geay adb areg &1 AT SR e RgfaRad & Ao sd §

1. QYT
2. JTqEaT
3. HIRT

4. 3MPId
Options :
21052929513. 1
21052929514. 2
21052929515.3
21052929516. 4

Question Number : 30 Question Id : 2105297507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052929517. 1
21052929518. 2
21052929519. 3
21052929520. 4

Question Number : 30 Question Id : 2105297507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fufeiad ¥ 4 &HF - 91 fod Gy do a1 @1 HHid S H0g B3 ?

1. 7@ UG

2 gFHAUT

3. HHH UG

4, TO9H (Copula)
Options :
21052929517. 1
21052929518. 2
21052929519. 3
21052929520. 4

Sub-Section Number : 4
Sub-Section Id : 210529282
Question Shuffling Allowed : Yes

Question Id : 2105297508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 20189.

Year\Country X Y Z T

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105297509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2.z

3.¥

4T

Options :
21052929521. 1
21052929522 2
21052929523. 3
21052929524. 4



Question Number : 32 Question Id : 2105297510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which country registered maximum growth (%) by 2019 with reference to year 20157

1. Z

2T

3. X

4.Y

Options :
21052929525. 1
21052929526. 2
21052929527. 3
21052929528. 4

Question Number : 33 Question Id : 2105297511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y, what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3. ~13.25%
4, ~11.65 %
Options :

21052929529.
21052929530.
21052929531.
21052929532.

AW N =

Question Number : 34 Question Id : 2105297512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In any given year, compared to the previous year which country(s) registered maximum growth
(96)?

1.7

2. Zandy

3 Y

4 Xand Z
Options :
21052929533. 1
21052929534.2
21052929535. 3
21052929536. 4

Question Number : 35 Question Id : 2105297513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
2.91.11 %

3. 11732 %
4,.121.81 %
Options :
21052929537. 1
21052929538. 2
21052929539. 3
21052929540. 4

Question Id : 2105297508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea aifereT I AR &3 798 2015 ¥ 2019 9F 5 TUT F1 FF F IR IR S (X, V,
z, 7) ¥ fore wifia wdftevoiin oot amar & 9d-9R siwe fiu 7w §1 37 siwsl & amuR
W'ﬂ'ﬁﬁ'%ﬁ?a

WIfUd AdiHuiig Sl &9 (GwW) :
ay / G¥l X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105297509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tul 2016 - 2017 B &1 (U G = TAHUG Soll B WU & H ifimad afe (%) & @ 87

1. X

27

3.Y

4T

Options :
21052929521. 1
21052929522. 2
21052929523. 3
21052929524. 4



Question Number : 32 Question Id : 2105297510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

®H-9 SR+ a¥ 2015 & Y&H T 2019 T® AHIH G (%) Gol Dl g ?

1. Z

2T

3. X

4.Y

Options :
21052929525. 1
21052929526. 2
21052929527. 3
21052929528. 4

Question Number : 33 Question Id : 2105297511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sy @ U AAIEHeuia Sl &Hdl B JH1Gd aiftid afg (%) fea-i @i e ?

1. ~10.85%

2. ~12.77%

3. ~13.25%

4, ~11.65%
Options :
21052929529. 1
21052929530. 2
21052929531.3
21052929532. 4

Question Number : 34 Question Id : 2105297512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udqdi a9 @ qoH | fedl fau e ay H farg &=/ ft S=IT 5 Sii¥ddd 9is (%) Gol @i 6 7

1.7
2.ZARY
.Y
4.X 3R 7

Options :

21052929533. 1

21052929534. 2

21052929535. 3

21052929536. 4

Question Number : 35 Question Id : 2105297513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
OHl IRl 53 & e, a9 2015 & 5H # a¥ 2019 H ey Sl &1 MU &Hd § 99y
3G (%) o & 2

1. 52.32%

2. 91.11%

3. 117.32%

4. 121.81%

Options :

21052929537. 1

21052929538. 2

21052929539. 3

21052929540. 4
Sub-Section Number : 5
Sub-Section Id : 210529283
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105297514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input OQutput Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052929541. 1

21052929542.2

21052929543. 3

21052929544. 4

Question Number : 36 Question Id : 2105297514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BI0S URGUff Teg DT R ET A& ?

1. @7 5B HEA AaE- fiw=d
2. G241 ZAYE #f13eYe YIeddy
3. 9f® 39Ye 3eye fiRen

4. TSI 3% 31U itedmR
Options :

21052929541. 1

21052929542, 2

21052929543. 3

21052929544. 4

Question Number : 37 Question Id : 2105297515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052929545. 1
21052929546. 2
21052929547. 3
21052929548. 4

Question Number : 37 Question Id : 2105297515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HR gredmR & AT BT 8 -

1. PHR ¢ad

2. AR a1 didg
3. HiedR

4. 7

Options :
21052929545. 1
21052929546. 2
21052929547. 3
21052929548. 4

Question Number : 38 Question Id : 2105297516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052929549. 1
21052929550. 2
21052929551. 3
21052929552. 4

Question Number : 38 Question Id : 2105297516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye weRiie gq Faifed 4 @ oi-d@ fafu g 2

1. 3@ (@)

2. g a1 Ay=

3. U713 91C aYl §R 918
4, arH

Options :
21052929549. 1
21052929550. 2
21052929551. 3
21052929552 4

Question Number : 39 Question Id : 2105297517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929553. 1

21052929554. 2

21052929555. 3

21052929556. 4

Question Number : 39 Question Id : 2105297517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;
HDHYA (A) : GRIRT 98d 9 313 UredsH 3Ude & a4l 34! didbugdl §¢ Yol o
dd (R) : 39 UHR 9 9gd 4 UIdUHHl H U el UledshH &l 98- U dof gHldl o
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) T TeI ST T8l 5

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

21052929553, 1

21052929554, 2

21052929555. 3
21052929556. 4

Question Number : 40 Question Id : 2105297518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052929557. 1
21052929558. 2
21052929559. 3
21052929560. 4



Question Number : 40 Question Id : 2105297518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F WUTTeH Hgifeed & € food T HoTell § Wgad Bl § 7
1. 9I5R1

2. dffaed

3. 3 ST
4. SfaHd
Options :
21052929557. 1
21052929558. 2
21052929559. 3
21052929560. 4

Question Number : 41 Question Id : 2105297519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052929561. 1
21052929562. 2
21052929563. 3
21052929564. 4

Question Number : 41 Question Id : 2105297519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ul 9o dedl & ded aigd 4 H, 94 1990 - 2015 & &d Uid g4 4§ &Y 3R &1 ard 9 a2
T AT B o drell Sird s a4 2

1. 3MMeht

2. l-faers

3. dH-9T
4.Ua - fagTg
Options :
21052929561. 1
21052929562. 2
21052929563. 3
21052929564. 4

Question Number : 42 Question Id : 2105297520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Emitted Pollutants Environmental Impact

A, Carbon dioxide . Formation of acid rain

B. Carbon monoxide Il. Toxic and are carcinogenic

C. Nitrogen oxides lIl. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052929565. 1
21052929566. 2
21052929567. 3
21052929568. 4

Question Number : 42 Question Id : 2105297520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- DI Tall-11 & Ty GHferd oY

gal-| gl-1l

JoHfoid Ugu® UgiaRuiiy yHId

A, DI SEIATTIES |l 37 a9l I HHE

B. BIa- AFREEES (1.3 dul RERS

C. ASeIoH ATHTESd (il TIUe JUT 49 e I & SR

D. afofi 3R V. UF UH-819H 79 & ¥U H S da= &l
HEEICIERS AR
=i fgu 7Tu fadeul § T Ul Sk &1 90 @9 ;

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052929565. 1
21052929566. 2
21052929567. 3
21052929568. 4

Question Number : 43 Question Id : 2105297521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

AL USA

B. China

C. Russia

D. India

E. Japan

Choose the correct answer from the options given below

1.A B DCE
2B ADCE
3.BADEC
4. A B, D EC
Options :

21052929569. 1
21052929570. 2
21052929571.3
21052929572. 4

Question Number : 43 Question Id : 2105297521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2 & 3H® BE-SE3HES S § 3% diGH & 3fdie] ®H H 9ol 4 @ UgdH @ :

A. UYU

B. A

C. ¥4

D. HIRd

E. WllUT-

i f&u e fdoredl & ¥ 98l S 9 -
1.A B DCE
2B ADCE
3.BADEC
4 A B D EC
Options :
21052929569. 1
21052929570. 2

21052929571. 3
21052929572. 4

Question Number : 44 Question Id : 2105297522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052929573. 1

21052929574. 2

21052929575. 3

21052929576. 4

Question Number : 44 Question Id : 2105297522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYEHYA (A) : IUGd oDl U3 Tigd Big Ud- gad! 60% U 65% I dRIDa TR
TaTaH & o i 3 o1 9@t g

d (R) : U Jad| B dRIGRIadl 39 Sffdded Urdal iR R &=l 31
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052929573. 1

21052929574 2

21052929575. 3

21052929576 4

Question Number : 45 Question Id : 2105297523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. B and D only

2. A, B and D only
3.B, D and E only

4. A B, DandE only
Options :
21052929577. 1
21052929578. 2
21052929579. 3
21052929580. 4

Question Number : 45 Question Id : 2105297523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i f&U W SMTUeT -gHI®Ru Sur | U, 39 SUM™ (3 3Urdl) B SfHsid B3 ford/foig Srikfd &
&Y # qiffpd fhdl ol TPl & ;

A. 9I¢ dcey

B. 44 - TONT &7 R0

c. g1¢ Eifed &7 # R & W Sdl SoM
D. &IFT BIdHH

E. T GRI&d D& DI Holgd Dl
i feu TTu fasedl & 9 981 SR g -
1. Baa B 3R D

2. ®HaAA A, B AR D

3. @A B, D3R E

4. HAAA, B, D AR E

Options :

21052929577. 1

21052929578 2

21052929579. 3
21052929580. 4

Question Number : 46 Question Id : 2105297524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
21052929581. 1
21052929582. 2
21052929583. 3
21052929584. 4

Question Number : 46 Question Id : 2105297524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR & FHETAIC] FHG H ot X R SaRdlG! e & FHafcfad & 9 fo & of agra
(quadrivium) o WWWW?

A @I

B. dd

C. BT

D. WifeTd!

I

i feu TTu fasedl & 9 981 SR g -
1. Bad A, B3R C
2. Hdd B, C3ARD
3. HAAC, D AR E
4. BAdA DIARE
Options :
21052929581 1
21052929582, 2

21052929583. 3
21052929584. 4

Question Number : 47 Question Id : 2105297525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052929585. 1
21052929586. 2
21052929587. 3
21052929588. 4

Question Number : 47 Question Id : 2105297525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gy 2003 H HIE SHIYH G HA10 (MHRD) BRI AP1Y U] Hafdd i srisd
(NPTEL) @ FHRERId B TUiadl H GUR & o [0 & 1 741 4T :

1. Tafcoea T2ram

2. Py &

3. goil-ad fare
4, fafers e
Options :
21052929585. 1
21052929586. 2
21052929587. 3
21052929588. 4

Question Number : 48 Question Id : 2105297526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052929589. 1
21052929590. 2
21052929591. 3
21052929592. 4

Question Number : 48 Question Id : 2105297526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hgad AP ER1 3 2015 H FuiRd GuIvviiy faerd dedl (T8.3150) I ® db I U - &1
TR

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052929589. 1
21052929590. 2
21052929591. 3
21052929592. 4

Question Number : 49 Question Id : 2105297527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

. Professors, teachers and researchers working
A. Mode 1 - Cross border supply abroac onia sempiorany basis

, Il. Language training companies, Local
B. Mode 2 - Consumption abroad ] g, - g P '
university and Satellite campuses

) . Distance education, Virtual education,
C. Mode 3 - Commercial presence L
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IV,E-I,C-1I,D-I
2ZA-ILB-IV,C-1I,D-1
SA-ILB-U,C-1,D-1V
4 A-LB-ILC-1V,D-1l
Options :

21052929593. 1
21052929594. 2
21052929595. 3
21052929596. 4

Question Number : 49 Question Id : 2105297527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl @ G-I @1 FaH &8 -1 & e & Siaia R Gareit ot omgfd o usfaat 6 g g
- -1l H 2187 H 39 "aredi & e g

gal-| -1l

A GGfd-1: GE-OR |1 fae=l F Sl SIUR R S &R I8 U,
HTgfd f2refdh 7R Tyl

B. Usfa-2 : fag=r & |11 Hro1 ufiRrerr dufai, ®yrig fagfderey ok
C. UGfa-3 : aifvifcad (1. 3s 91 31 & A1y U greufRiam, syt faf,
Jurufd HIURE UFI&

D. UGld-4 : Widpidd  |Iv. D3 faendl sremgd & fodl ureashH / S
a3 @1 MEAFET  [@RHH 5 THiE & o guL o2 oidl &

- feu T1u fasedl & 9 981 SR g -

TA-IV,B-1,C-1I,D-1
ZA-ILB-IV,C-1,D-1I
3A-ILB-NLC-1,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

21052929593. 1
21052929594. 2
21052929595. 3
21052929596. 4

Question Number : 50 Question Id : 2105297528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052929597. 1
21052929598. 2
21052929599. 3
21052929600. 4

Question Number : 50 Question Id : 2105297528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTH & TED § :

1. dI0T

2. SidraT

3. P

4, grfor
Options :
21052929597. 1
21052929598. 2
21052929599. 3
21052929600. 4

PART II Arabic
Section Id : 21052990
Section Number : 2

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529284
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105297529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Al @ el

Lokl @ ,@mwf (3)

Options :

21052929601. 1
21052929602. 2
21052929603. 3
21052929604. 4

Question Number : 51 Question Id : 2105297529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o L)y 82300 (s Lk o6, . amal) Wb uis il i o)

Adel @ ST RN
b @ ;pji:.r-.’nf.:f (3)

Options :

21052929601. 1
21052929602. 2
21052929603. 3
21052929604. 4

Question Number : 52 Question Id : 2105297530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jesyl (9 TS TO B - AN )
1§ el @ S L)
Options :

21052929605. 1
21052929606. 2
21052929607. 3
21052929608. 4

Question Number : 52 Question Id : 2105297530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

:yﬁ&ﬁﬂﬂl»ﬁiﬂ‘m‘}),ﬁtyﬁgs

Je=Y @ sperslE
L..«“-‘-E-E"E;ﬂi ) el (3
Options :

21052929605. 1
21052929606. 2
21052929607. 3
21052929608. 4

Question Number : 53 Question Id : 2105297531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F . . o
3.6 2 el rrainld) e JBaslws ) o o d sl

JE>Y @ FEIC BIC-ARCY
Sl @ Gl (3)

Options :

21052929609. 1
21052929610. 2
21052929611. 3
21052929612. 4

Question Number : 53 Question Id : 2105297531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

B (S u’”;"‘!d;’*ﬂf-ﬂb tﬁﬁﬂﬁbdssﬂ[éw} | > ‘-E'j.}-‘t

Je>YI @ sl
SeAlen! @ Ga,d)l )

Options :

21052929609. 1
21052929610. 2
21052929611. 3
21052929612. 4

Question Number : 54 Question Id : 2105297532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S

5 . . F i =
eol 15 eudleas: JBeels platsld - JB .Y JEs syl ol fedil e

L

13 o medne J 6 Y s pe do1 Y sl Vlieg) 13) oz s - alu3Y)
st @ ekl @

o5l @ 2B ms (3

Options :

21052929613. 1
21052929614. 2
21052929615. 3
21052929616. 4



Question Number : 54 Question Id : 2105297532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S

= = . ¥ " =
eol 15 eudleas: JBeels platsld - JB .Y JEs syl ol fedil e

e

3088 bt Yiapadal Sy alas eyl 15 ssats - AI3Y!

slnd(Este @ ekl @
o5 e @ £ (e ()

Options :

21052929613. 1
21052929614. 2
21052929615. 3
21052929616. 4

Question Number : 55 Question Id : 2105297533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: 303 s 0w gy Lo Js ol ) e at) e

el @ Srad @
& Ml | _,__:! (4) l'..::.‘" | (3)
Options :

21052929617. 1
21052929618. 2



21052929619. 3
21052929620. 4

Question Number : 55 Question Id : 2105297533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929617. 1
21052929618. 2
21052929619. 3
21052929620. 4

Question Number : 56 Question Id : 2105297534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929621. 1



21052929622. 2
21052929623. 3
21052929624. 4

Question Number : 56 Question Id : 2105297534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929621. 1
21052929622. 2
21052929623. 3
21052929624. 4

Question Number : 57 Question Id : 2105297535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929625. 1
21052929626. 2
21052929627 3
21052929628. 4

Question Number : 57 Question Id : 2105297535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929625. 1
21052929626. 2
21052929627. 3



21052929628. 4

Question Number : 58 Question Id : 2105297536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929629. 1
21052929630. 2
21052929631. 3
21052929632. 4

Question Number : 58 Question Id : 2105297536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929629. 1
21052929630. 2



21052929631. 3
21052929632. 4

Question Number : 59 Question Id : 2105297537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929633. 1
21052929634. 2
21052929635. 3
21052929636. 4

Question Number : 59 Question Id : 2105297537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Sl @ el o
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Options :

21052929633. 1
21052929634. 2



21052929635. 3
21052929636. 4

Question Number : 60 Question Id : 2105297538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929637. 1
21052929638. 2
21052929639. 3
21052929640. 4

Question Number : 60 Question Id : 2105297538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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O (2) ws,l ()
R (4) G (3)
Options :

21052929637. 1
21052929638. 2



21052929639. 3
21052929640. 4

Question Number : 61 Question Id : 2105297539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o BaG DLl b a1 G s s e

ol @ S @
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Options :

21052929641. 1
21052929642. 2
21052929643. 3
21052929644. 4

Question Number : 61 Question Id : 2105297539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

30 BaAL LUl RRu b ) 35 s

SSUI SR Sxad @
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Options :

21052929641. 1
21052929642. 2
21052929643. 3



21052929644. 4

Question Number : 62 Question Id : 2105297540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a3 (B aY, Y,) Ji) sl a Lol S )
Bl @ Jel @
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Options :

21052929645. 1
21052929646. 2
21052929647. 3
21052929648. 4

Question Number : 62 Question Id : 2105297540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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I L) dedl
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Options :

21052929645. 1
21052929646. 2
21052929647. 3
21052929648. 4



Question Number : 63 Question Id : 2105297541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929649. 1
21052929650. 2
21052929651. 3
21052929652. 4

Question Number : 63 Question Id : 2105297541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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el
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Options :
21052929649. 1



21052929650. 2
21052929651. 3
21052929652. 4

Question Number : 64 Question Id : 2105297542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929653. 1
21052929654. 2
21052929655. 3
21052929656. 4

Question Number : 64 Question Id : 2105297542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929653. 1
21052929654. 2
21052929655. 3
21052929656. 4

Question Number : 65 Question Id : 2105297543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929657. 1
21052929658. 2
21052929659. 3
21052929660. 4



Question Number : 65 Question Id : 2105297543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929657. 1
21052929658. 2
21052929659. 3
21052929660. 4

Question Number : 66 Question Id : 2105297544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929661. 1
21052929662. 2
21052929663. 3
21052929664. 4



Question Number : 66 Question Id : 2105297544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e e ol e Jlsl e o

@)“k-ﬁeﬁu 2 3,@13.:&;;;-‘-}” (1)
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Options :

21052929661. 1
21052929662. 2
21052929663. 3
21052929664. 4

Question Number : 67 Question Id : 2105297545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: e E - 1
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Options :

21052929665. 1
21052929666. 2
21052929667 3



21052929668. 4

Question Number : 67 Question Id : 2105297545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929665. 1
21052929666. 2
21052929667. 3
21052929668. 4

Question Number : 68 Question Id : 2105297546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929669. 1
21052929670. 2
21052929671. 3
21052929672. 4



Question Number : 68 Question Id : 2105297546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929669. 1
21052929670. 2
21052929671. 3
21052929672. 4

Question Number : 69 Question Id : 2105297547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929673. 1



21052929674. 2
21052929675. 3
21052929676. 4

Question Number : 69 Question Id : 2105297547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929673. 1
21052929674. 2
21052929675. 3
21052929676. 4

Question Number : 70 Question Id : 2105297548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929677. 1
21052929678. 2
21052929679. 3
21052929680. 4

Question Number : 70 Question Id : 2105297548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929677. 1
21052929678. 2
21052929679. 3
21052929680. 4

Question Number : 71 Question Id : 2105297549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929681. 1
21052929682. 2
21052929683. 3
21052929684. 4

Question Number : 71 Question Id : 2105297549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929681. 1
21052929682. 2
21052929683. 3
21052929684. 4

Question Number : 72 Question Id : 2105297550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929685. 1
21052929686. 2
21052929687. 3
21052929688. 4

Question Number : 72 Question Id : 2105297550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929685. 1
21052929686. 2
21052929687. 3
21052929688. 4

Question Number : 73 Question Id : 2105297551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929689. 1
21052929690. 2
21052929691. 3
21052929692. 4

Question Number : 73 Question Id : 2105297551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929689. 1
21052929690. 2
21052929691. 3
21052929692. 4

Question Number : 74 Question Id : 2105297552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929693. 1
21052929694. 2



21052929695. 3
21052929696. 4

Question Number : 74 Question Id : 2105297552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929693. 1
21052929694. 2
21052929695. 3
21052929696. 4

Question Number : 75 Question Id : 2105297553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929697. 1
21052929698. 2
21052929699. 3
21052929700. 4

Question Number : 75 Question Id : 2105297553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929697. 1



21052929698. 2
21052929699. 3
21052929700. 4

Question Number : 76 Question Id : 2105297554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929701. 1
21052929702. 2
21052929703. 3
21052929704. 4

Question Number : 76 Question Id : 2105297554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929701. 1
21052929702. 2
21052929703. 3
21052929704. 4

Question Number : 77 Question Id : 2105297555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929705. 1
21052929706. 2
21052929707. 3
21052929708. 4

Question Number : 77 Question Id : 2105297555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929705. 1
21052929706. 2
21052929707. 3
21052929708. 4

Question Number : 78 Question Id : 2105297556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929709. 1
21052929710. 2
21052929711. 3
21052929712. 4

Question Number : 78 Question Id : 2105297556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929709. 1
21052929710. 2
21052929711. 3
21052929712. 4

Question Number : 79 Question Id : 2105297557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929713. 1
21052929714. 2
21052929715. 3
21052929716. 4

Question Number : 79 Question Id : 2105297557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929713. 1
21052929714.2
21052929715. 3
21052929716. 4

Question Number : 80 Question Id : 2105297558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929717. 1

21052929718. 2
21052929719. 3



21052929720. 4

Question Number : 80 Question Id : 2105297558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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dnind) sl dz )l eliMercdale 3

el @
Options :
21052929717. 1
21052929718. 2
21052929719. 3
21052929720. 4

Question Number : 81 Question Id : 2105297559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929721. 1
21052929722. 2
21052929723. 3
21052929724. 4

Question Number : 81 Question Id : 2105297559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929721. 1
21052929722.2



21052929723. 3
21052929724. 4

Question Number : 82 Question Id : 2105297560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929725. 1
21052929726. 2
21052929727.3
21052929728. 4

Question Number : 82 Question Id : 2105297560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929725. 1
21052929726. 2
21052929727. 3
21052929728. 4

Question Number : 83 Question Id : 2105297561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929729. 1
21052929730. 2



21052929731. 3
21052929732. 4

Question Number : 83 Question Id : 2105297561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JRPRET S TRANK Uil g s, 0]
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Options :

21052929729. 1
21052929730. 2
21052929731.3
21052929732. 4

Question Number : 84 Question Id : 2105297562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929733. 1
21052929734. 2
21052929735. 3
21052929736. 4

Question Number : 84 Question Id : 2105297562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929733. 1
21052929734. 2
21052929735. 3
21052929736. 4

Question Number : 85 Question Id : 2105297563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



139y ad)) Yl e ) adBee Ly S
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Options :

21052929737. 1
21052929738. 2
21052929739. 3
21052929740. 4

Question Number : 85 Question Id : 2105297563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

13 odd)) JENUe pladbe o gleyt” ol

wl,e @ 5,0
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Options :

21052929737. 1
21052929738. 2
21052929739. 3
21052929740. 4



Question Number : 86 Question Id : 2105297564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929741. 1
21052929742.2
21052929743. 3
21052929744. 4

Question Number : 86 Question Id : 2105297564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929741. 1
21052929742. 2
21052929743. 3
21052929744. 4

Question Number : 87 Question Id : 2105297565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929745. 1
21052929746. 2
21052929747.3
21052929748. 4

Question Number : 87 Question Id : 2105297565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929745. 1
21052929746. 2
21052929747. 3
21052929748. 4

Question Number : 88 Question Id : 2105297566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929749. 1
21052929750. 2
21052929751. 3
21052929752. 4

Question Number : 88 Question Id : 2105297566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929749. 1
21052929750. 2

21052929751. 3
21052929752. 4

Question Number : 89 Question Id : 2105297567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929753. 1
21052929754.2
21052929755. 3
21052929756. 4

Question Number : 89 Question Id : 2105297567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929753. 1
21052929754. 2
21052929755.3
21052929756. 4

Question Number : 90 Question Id : 2105297568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929757. 1
21052929758.2
21052929759. 3
21052929760. 4

Question Number : 90 Question Id : 2105297568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929757 1
21052929758. 2
21052929759. 3
21052929760. 4

Question Number : 91 Question Id : 2105297569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052929761. 1
21052929762. 2
21052929763. 3
21052929764. 4

Question Number : 91 Question Id : 2105297569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol 251 (323 U5 gy 15,6288 ad ol Lol ool oY1 455G o3, )
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Options :
21052929761. 1



21052929762. 2
21052929763. 3
21052929764. 4

Question Number : 92 Question Id : 2105297570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929765. 1
21052929766. 2
21052929767 3
21052929768. 4

Question Number : 92 Question Id : 2105297570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929765. 1
21052929766. 2
21052929767. 3
21052929768. 4

Question Number : 93 Question Id : 2105297571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929769. 1
21052929770. 2
21052929771.3
21052929772. 4

Question Number : 93 Question Id : 2105297571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929769. 1
21052929770. 2
21052929771. 3
21052929772 4

Question Number : 94 Question Id : 2105297572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929773. 1
21052929774. 2
21052929775. 3
21052929776. 4

Question Number : 94 Question Id : 2105297572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052929773. 1
21052929774. 2
21052929775. 3
21052929776. 4

Question Number : 95 Question Id : 2105297573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Gl 53531, La) 1Y o)

5 ) dadll @ 4o el (@)
L@ @ LIyY @3
Options :

21052929777. 1
21052929778. 2
21052929779. 3
21052929780. 4

Question Number : 95 Question Id : 2105297573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052929777. 1
21052929778. 2
21052929779. 3
21052929780. 4

Question Number : 96 Question Id : 2105297574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929781. 1
21052929782. 2
21052929783. 3
21052929784. 4

Question Number : 96 Question Id : 2105297574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A). (B) & (C) (2) (A). (D) & (B) (1)
A). ) &D @ D). (C) &(B)  (3)

Options :

21052929781. 1
21052929782. 2
21052929783. 3
21052929784. 4

Question Number : 97 Question Id : 2105297575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929785. 1



21052929786. 2
21052929787. 3
21052929788. 4

Question Number : 97 Question Id : 2105297575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929785. 1
21052929786. 2
21052929787. 3
21052929788. 4

Question Number : 98 Question Id : 2105297576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929789. 1
21052929790. 2



21052929791. 3
21052929792. 4

Question Number : 98 Question Id : 2105297576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929789. 1
21052929790. 2
21052929791. 3
21052929792. 4

Question Number : 99 Question Id : 2105297577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929793. 1
21052929794. 2
21052929795. 3
21052929796. 4



Question Number : 99 Question Id : 2105297577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929793. 1
21052929794. 2
21052929795. 3
21052929796. 4

Question Number : 100 Question Id : 2105297578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929797. 1
21052929798. 2
21052929799. 3
21052929800. 4



Question Number : 100 Question Id : 2105297578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929797. 1
21052929798. 2
21052929799. 3
21052929800. 4

Question Number : 101 Question Id : 2105297579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929801. 1
21052929802. 2
21052929803. 3
21052929804. 4



Question Number : 101 Question Id : 2105297579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929801. 1
21052929802. 2
21052929803. 3
21052929804. 4

Question Number : 102 Question Id : 2105297580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929805. 1
21052929806. 2
21052929807. 3
21052929808. 4

Question Number : 102 Question Id : 2105297580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929805. 1
21052929806. 2
21052929807. 3
21052929808. 4

Question Number : 103 Question Id : 2105297581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929809. 1
21052929810. 2
21052929811. 3
21052929812. 4

Question Number : 103 Question Id : 2105297581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929809. 1
21052929810. 2
21052929811. 3
21052929812. 4

Question Number : 104 Question Id : 2105297582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052929813. 1
21052929814. 2
21052929815. 3
21052929816. 4

Question Number : 104 Question Id : 2105297582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929813. 1
21052929814. 2
21052929815. 3
21052929816. 4

Question Number : 105 Question Id : 2105297583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929817. 1
21052929818. 2
21052929819. 3
21052929820. 4

Question Number : 105 Question Id : 2105297583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=
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Options :

21052929817. 1
21052929818. 2
21052929819. 3
21052929820. 4

Question Number : 106 Question Id : 2105297584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052929821. 1
21052929822. 2
21052929823. 3
21052929824. 4

Question Number : 106 Question Id : 2105297584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929821. 1
21052929822.2
21052929823. 3
21052929824. 4

Question Number : 107 Question Id : 2105297585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929825. 1
21052929826. 2
21052929827. 3
21052929828. 4

Question Number : 107 Question Id : 2105297585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929825. 1
21052929826. 2
21052929827. 3
21052929828. 4

Question Number : 108 Question Id : 2105297586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929829. 1
21052929830. 2
21052929831. 3
21052929832. 4

Question Number : 108 Question Id : 2105297586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929829. 1
21052929830. 2
21052929831. 3
21052929832. 4

Question Number : 109 Question Id : 2105297587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929833. 1
21052929834. 2
21052929835. 3
21052929836. 4

Question Number : 109 Question Id : 2105297587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929833. 1
21052929834. 2
21052929835. 3
21052929836. 4

Question Number : 110 Question Id : 2105297588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

80) 08 Ul e IV s 331 50

-\’_‘9’15.141:!51_}9;% d[.,.?._HET;.a (1)

{
L
C
o
e
3

53585l | 2 :

AR PWITIEN] : L 515y @)

&
S aai! @ e SedlysleY e olids @
Options :

21052929837. 1

21052929838. 2

21052929839. 3

21052929840. 4

Question Number : 110 Question Id : 2105297588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RS
L
%

S oaklslsT e oM

ngjj;LG*th“"JtUa-ﬁ:’ Lol T2 @

¢

s st all J,5lal) : L LY @)

“
& i)l @) s SedlsleYdeolidas @
Options :

21052929837. 1

21052929838. 2

21052929839. 3

21052929840. 4

Question Number : 111 Question Id : 2105297589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TJCON| JARCEINT 7 SOUN | -0 FE 3y

S () ose Jlsl 2 SV i G i) @
T G s Gl nag BTG

PZEVCU[ Y TROREN 0§ VS PRV COS RN 15 FE®
ol e G Al aBr i G s @
§,a2]]

(€ () (2 (b) (@) (1)
(d (@ (4 (d® (3

Options :

21052929841. 1
21052929842. 2
21052929843. 3
21052929844. 4

Question Number : 111 Question Id : 2105297589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TJCON| JARCEINT 7 SOUN | -0 FE 3y

S () ose Jlsl 2 SV i G i) @
P OPRI I T TN CAPONEELEY TGRS

g,wugwuﬁwwwwu,wwm ©
ol e G Al aBr i G s @
§,a2]]

(€ ® (2 (b) (@) (1)
(d (@ (4 (d® (3

Options :

21052929841. 1
21052929842. 2
21052929843. 3
21052929844. 4

Question Number : 112 Question Id : 2105297590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3 5dau Yl s lees!”
GENOCIDE (2) SUICIDE (1)
HORRIFIED (4) COLLIDE (3)

Options :



21052929845. 1
21052929846. 2
21052929847. 3
21052929848. 4

Question Number : 112 Question Id : 2105297590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A5Vl s bl

GENOCIDE (2) SUICIDE (1)
HORRIFIED (4) COLLIDE (3)
Options :

21052929845. 1
21052929846. 2
21052929847. 3
21052929848. 4

Question Number : 113 Question Id : 2105297591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

14,0 ,a)\ & DIALOGUE

Gxld! @ =l @
5,500 @ PP POUI G
Options :

21052929849. 1
21052929850. 2



21052929851. 3
21052929852. 4

Question Number : 113 Question Id : 2105297591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

14,9 ;)\ y» DIALOGUE
Gl @ =l @
5,60 @ 5wl 3)

Options :

21052929849. 1
21052929850. 2
21052929851. 3
21052929852. 4

Question Number : 114 Question Id : 2105297592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

140 b (s 5ly FOOTAGE .64

Uyl el @ Baaxd 203y @
sl 51ed) @ Lpa Bl 3
Options :

21052929853. 1



21052929854. 2
21052929855. 3
21052929856. 4

Question Number : 114 Question Id : 2105297592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

14 b (g4l FOOTAGE .64

LUyrad e @ b yam ! Sl03Y! (1)
sl 3,1 @ 3&@151:,.” (3)
Options :

21052929853. 1
21052929854. 2
21052929855. 3
21052929856. 4

Question Number : 115 Question Id : 2105297593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Gl 3 oY b sl L

INVESTMENT (1)
ENFORCEMENT )
IMPROVEMENT (3)
ALLOTMENT (4)

]

Options :
21052929857. 1



21052929858. 2
21052929859. 3
21052929860. 4

Question Number : 115 Question Id : 2105297593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Gl 3 oY b sl L

INVESTMENT (1
ENFORCEMENT (2
IMPROVEMENT (3

ALLOTMENT (4

[

)
)
)
)

Options :

21052929857. 1
21052929858. 2
21052929859. 3
21052929860. 4

Question Number : 116 Question Id : 2105297594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List 1 List II
A el T B bl A0V
® Sllcldlvas i el Yy el
(C) ™3,53 sene (iii) x@bﬁ,_ﬁ,bj
@ Sl Sl 0 @ MGl

Choose the correct answer from the options given below :

(1) (A)-@). (B)-(m1). (C)-v). (D)-()
(2)  (A)-av), (B)-(). (O)-(1), (D)-(111)
(3) (A)-(). (B)-(m). (C)-(111). (D)-(1v)
4)  (A)-w). (B)-(). (C)-av), (D)-()

Options :

21052929861. 1

21052929862. 2

21052929863. 3
21052929864. 4

Question Number : 116 Question Id : 2105297594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List 1 List II
A el T B bl A0V
® Sllcldlvas i el Yy el
(C) ™3,53 sene (iii) x@bﬁ,_ﬁ,bj
@ Sl Sl 0 @ MGl

Choose the correct answer from the options given below :

(1) (A)-@). (B)-(m1). (C)-v). (D)-()
(2)  (A)-av), (B)-(). (O)-(1), (D)-(111)
(3) (A)-(). (B)-(m). (C)-(111). (D)-(1v)
4)  (A)-w). (B)-(). (C)-av), (D)-()

Options :

21052929861. 1

21052929862. 2

21052929863. 3
21052929864. 4

Question Number : 117 Question Id : 2105297595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I wath Last IT

List I List IT
@ 35, 0 2l sl e
® 3kl S§50ma! () GadlyslaYda oo
©)  dnead Jedliere i) o) 99 dum je
@ Y50 (v) Al )

Choose the correct answer from the options given below :

(1)  (A-aw). (B)-0). (C)-1b). (D)-(v)
(2)  (A)-@). (B)-(w), (C)-(11). (D)-()
(3)  (A)-Gv). (B)-(). (C)-(1). (D)-(111)
4 (A)-@). (B)-(m), (C)-(iv). (D)-(1)

Options :

21052929865. 1
21052929866. 2
21052929867. 3
21052929868. 4

Question Number : 117 Question Id : 2105297595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I wath Last IT

List I List IT
@ 35, 0 2l sl e
® 3kl S§50ma! () GadlyslaYda oo
©)  dnead Jedliere i) o) 99 dum je
@ Y50 (v) Al )

Choose the correct answer from the options given below :

(1)  (A-aw). (B)-0). (C)-1b). (D)-(v)
(2)  (A)-@). (B)-(w), (C)-(11). (D)-()
(3)  (A)-Gv). (B)-(). (C)-(1). (D)-(111)
4 (A)-@). (B)-(m), (C)-(iv). (D)-(1)

Options :

21052929865. 1
21052929866. 2
21052929867. 3
21052929868. 4

Question Number : 118 Question Id : 2105297596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last T with Last IT

ListI Last IT
@A) vaeder! @ W 506 AH
® Jaib (2! @) s 372AH
(©) o (2] (i) s 384 AH
O b @) s 326 AH

Choose the correct answer from the options given below :

D A@-@. B)-0), (C)-au), (D)-Gv)
(2)  (A)-u), (B)-a). (O)-(v). (D)-()
3  @A-0.B)-. (©)-1w. D)-av)

Options :

21052929869. 1

21052929870. 2

21052929871. 3
21052929872. 4

Question Number : 118 Question Id : 2105297596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last T with Last IT

ListI Last IT
@A) vaeder! @ W 506 AH
® Jaib (2! @) s 372AH
(©) o (2] (i) s 384 AH
O b @) s 326 AH

Choose the correct answer from the options given below :

D A@-@. B)-0), (C)-au), (D)-Gv)
(2)  (A)-u), (B)-a). (O)-(v). (D)-()
3  @A-0.B)-. (©)-1w. D)-av)

Options :

21052929869. 1

21052929870. 2

21052929871. 3
21052929872. 4

Question Number : 119 Question Id : 2105297597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI Last IT
@ Lo, I @ eolddua!
® wadlsesVYIG (i) Caad S
© sl vouad @) JWd (s Ys
(D) ;&5@1 @ _}E:a‘ (IV) el Jaes

Choose the correct answer from the options given below :

(1) (A-@). (B)-av), (O)-(), (D)-(111)
(2)  @-w). B)-(wv). (O)-(w). (D)-()
(3)  (A)-av). (B)-(). (O)-(1). (D)-(a11)
4)  @-w). B)-(v). (C)-(w). (D)-()

Options :

21052929873. 1

21052929874. 2

21052929875. 3
21052929876. 4

Question Number : 119 Question Id : 2105297597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI Last IT
@ Lo, I @ eolddua!
® wadlsesVYIG (i) Caad S
© sl vouad @) JWd (s Ys
(D) ;&5@1 @ _}E:a‘ (IV) el Jaes

Choose the correct answer from the options given below :

(1) (A-@). (B)-av), (O)-(), (D)-(111)
(2)  @-w). B)-(wv). (O)-(w). (D)-()
(3)  (A)-av). (B)-(). (O)-(1). (D)-(a11)
4)  @-w). B)-(v). (C)-(w). (D)-()

Options :

21052929873. 1

21052929874. 2

21052929875. 3
21052929876. 4

Question Number : 120 Question Id : 2105297598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(A) %g*,hmg;J!'iiJ1Egh,aL,iJl 0 ol
B S rnalsle 4] () ol R e wlidss
© @b e Gl ﬁméquﬁhﬁﬂﬁj
D) i s lgud | e (23 ) oV pirde Ll

Choose the correct answer from the options given below :

(1) (A)-@v). (B)-(111). (C)-(1). (D)-(1)
(2) (A)-(u). (B)-(am1). (C)-av). (D)-(1)
(3) (A)-(111). (B)-(11). (C)-(1). (D)-(1v)
(4 (A)-(1)., (B)-(11), (C)-(111). (D)-(1v)

Options :

21052929877. 1

21052929878. 2

21052929879. 3
21052929880. 4

Question Number : 120 Question Id : 2105297598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(A) %g*,hmg;J!'iiJ1Egh,aL,iJl 0 ol
B S rnalsle 4] () ol R e wlidss
© @b e Gl ﬁméquﬁhﬁﬂﬁj
D) i s lgud | e (23 ) oV pirde Ll

Choose the correct answer from the options given below :

(1) (A)-@v). (B)-(111). (C)-(1). (D)-(1)
(2) (A)-(u). (B)-(am1). (C)-av). (D)-(1)
(3) (A)-(111). (B)-(11). (C)-(1). (D)-(1v)
(4 (A)-(1)., (B)-(11), (C)-(111). (D)-(1v)

Options :

21052929877. 1

21052929878. 2

21052929879. 3
21052929880. 4

Question Number : 121 Question Id : 2105297599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



eluis; ":‘wbwﬂtuﬁw,'15‘;-%&',;;#%,% Wﬂmwwdﬂf
oK 28,5 0 ) e Al 5 s

dlatlianidl o Sou e Guaecr s me @
AhJles @ sVl 2 ©

Options :

21052929881. 1
21052929882. 2
21052929883. 3
21052929884. 4

Question Number : 121 Question Id : 2105297599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a1 B L) (o g 151y sy (o U s bl (o o il Kt g (o
: o5 (28,05 dud) (G Lz Al (5 S

dlaidldandi il o S o Quaesme @
Helus @ sV selun

Options :
21052929881. 1
21052929882. 2



21052929883. 3
21052929884. 4

Question Number : 122 Question Id : 2105297600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: rabeai (5 g 87 sma 103, BY5 o oliban)) 51 2t
M‘:M‘b‘fzjrhu“@@ﬁl (1)
L-B[m’cdm-*euhdhk“&iwf@jﬁu“@ti;‘l (2)
Lﬂj'“"ith-‘fmti;“sdiﬁcuwuéwt (3)

- & £ e &
vmsw‘ﬁhwﬂ-‘*mi (4)

Options :

21052929885. 1
21052929886. 2
21052929887. 3
21052929888. 4

Question Number : 122 Question Id : 2105297600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ot 8 (o 87 sz 1035 B35 on il o) s 2t
M‘;M!tﬂﬁ;hu“@‘iﬁl (1)
L-B[m’cdﬁ-*eu‘:d“k“&iwf;ﬁﬁjﬁu“@tiﬁl (2)
@%1,@@;&1,&%&13&4@1 (3)

i & & . o
5 e s oY |y o] il @

Options :

21052929885. 1
21052929886. 2
21052929887. 3
21052929888. 4

Question Number : 123 Question Id : 2105297601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



38 - LURIPSY)
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Sl 8] ) e dailedy 3BV 2oyl snVislinl e @

530)) oo dasle Ay S e AV A o o e Jlsbiae 3 Lol daill sl 0 9
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3 sl

Options :

21052929889. 1
21052929890. 2
21052929891. 3
21052929892. 4

Question Number : 123 Question Id : 2105297601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



38 - LURIPSY)

E:Ubﬂiﬂb@ﬁ&ﬂﬁwd,mbﬂe,q_,'lﬁa,;jbjdaﬂ sl 8 (@
iy

Sl 8] ) e dailedy 3BV 2oyl snVislinl e @

530)) oo dasle Ay S e AV A o o e Jlsbiae 3 Lol daill sl 0 9
il sly |

a1, o0 daslo 4y 3 Eo @8V ) g b iz Q) slime 3 Lo ) il slis) 2 ()
3 sl

Options :

21052929889. 1
21052929890. 2
21052929891. 3
21052929892. 4

Question Number : 124 Question Id : 2105297602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



5,080 oluduin! o o Ll V) 22

=

1890 Lo 3 ol 31 o, )y b .‘t#mf‘\_;[.w»..«,ﬂ (a)
* phd U o) i) Ayl ) sl o2 3 52le ) s )
Wil - Lo dfe LI s ©

I Law @ wsd) Uzmepmrlels 3 @

=

: § a2

(¢ (b) (2) M) (a) (1)
(¢ (@ (4 @ (3

Options :

21052929893. 1
21052929894. 2
21052929895. 3
21052929896. 4

Question Number : 124 Question Id : 2105297602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



5,080 oluduin! o o Ll V) 22

=

1890 Lo 3 ol 31 o, )y b .‘t#mf‘\_;[.w»..«,ﬂ (a)
* phd U o) i) Ayl ) sl o2 3 52le ) s )
Wil - Lo dfe LI s ©

I Law @ wsd) Uzmepmrlels 3 @

=

: § a2

(¢ (b) (2) M) (a) (1)
(¢ (@ (4 @ (3

Options :

21052929893. 1
21052929894. 2
21052929895. 3
21052929896. 4

Question Number : 125 Question Id : 2105297603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



b Joldels slac) o UE L oo ol
S S demr @

Jealgee @)

A yeda>l (0

Sl d€ e @

el Ll e el Ol 25

(a), (c) (2) (a), (b) (1)
®. d 4 (©.@ (3
Options :

21052929897. 1
21052929898. 2
21052929899. 3
21052929900. 4

Question Number : 125 Question Id : 2105297603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



b Joldels slac) o UE L oo ol
S S demr @

Jealgee @)

A yeda>l (0

Sl d€ e @

el Ll e el Ol 25

(a), (c) (2) (a), (b) (1)
®. d 4 (©.@ (3
Options :

21052929897. 1
21052929898. 2
21052929899. 3
21052929900. 4

Question Number : 126 Question Id : 2105297604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PO CRCH IO N IR AW VN[
URa 53 (A)

;'_},,;,,.‘utais!w B)

Qb)\d,;&a (©)

ud S0 o

Choose the correct answer from the options given below :

(1 (B).(C). D). &)
2 (D). B).A).(©)
(3) (A, (C). D). (B)
4  (C). [D). (B). A)

Options :

21052929901. 1
21052929902. 2
21052929903. 3
21052929904. 4

Question Number : 126 Question Id : 2105297604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PO CRCH IO N IR AW VN[
URa 53 (A)

;'_},,;,,.‘utais!w B)

Qb)\d,;&a (©)

ud S0 o

Choose the correct answer from the options given below :

(1 (B).(C). D). &)
2 (D). B).A).(©)
(3) (A, (C). D). (B)
4  (C). [D). (B). A)

Options :

21052929901. 1
21052929902. 2
21052929903. 3
21052929904. 4

Question Number : 127 Question Id : 2105297605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:».:n:'},Ly'é‘_:’.j,ﬁ'wﬁb:‘ng,-(M! 91,*-:5-5!‘-:*:"_}
Q,—ﬁwl (A)
c'}'i)b,ad.g:i (B)

Choose the correct answer from the options given below :

(1) (A, D). B).(C)
2  B.C). A . D)
(3 (€. D). (B). @A)
4  (B). D). A).(©)

Options :

21052929905. 1
21052929906. 2
21052929907. 3
21052929908. 4

Question Number : 127 Question Id : 2105297605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:».:n:'},Ly'é‘_:’.j,ﬁ'wﬁb:‘ng,-(M! 91,*-:5-5!‘-:*:"_}
Q,—ﬁwl (A)
c'}'i)b,ad.g:i (B)

Choose the correct answer from the options given below :

(1) (A, D). B).(C)
2  B.C). A . D)
(3 (€. D). (B). @A)
4  (B). D). A).(©)

Options :

21052929905. 1
21052929906. 2
21052929907. 3
21052929908. 4

Question Number : 128 Question Id : 2105297606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



0 8 UL WY (N IR o, (0 11 (R .

a“":'“';d';["ﬁ‘.‘“ (B) utﬂd&ut,ﬁq (A)
s2lo ol sly) @) day oo cpnd ()

Choose the correct answer from the options given below :

()  (A). ®B). (C). (D)
(2) (A (C). D). ®B)
(3 (€. B). A, D
(4  (B).(C). D). A

Options :

21052929909. 1
21052929910. 2
21052929911. 3
21052929912. 4

Question Number : 128 Question Id : 2105297606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



0 8 UL WY (N IR o, (0 11 (R .

a“":'“';d';["ﬁ‘.‘“ (B) utﬂd&ut,ﬁq (A)
s2lo ol sly) @) day oo cpnd ()

Choose the correct answer from the options given below :

()  (A). ®B). (C). (D)
(2) (A (C). D). ®B)
(3 (€. B). A, D
(4  (B).(C). D). A

Options :

21052929909. 1
21052929910. 2
21052929911. 3
21052929912. 4

Question Number : 129 Question Id : 2105297607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



MJH{J,EJ1;MELJTQ1)FW1} 91M1ww;,~(\:\ﬁj1ﬁﬂ:"_}

L3N8 ® OBbSad @
42,0 me @) W56 (©

Choose the correct answer from the options given below :

(1) (D) (B). (A). (C)
(2 A). D). ®.©)
(3) (B), (C). (D). (A)
4  (©).(B). D). @A)
Options :
21052929913. 1
21052929914. 2
21052929915. 3
21052929916. 4

Question Number : 129 Question Id : 2105297607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



MJH{J,EJ1;MELJTQ1)FW1} 91M1ww;,~(\:\ﬁj1ﬁﬂ:"_}

L3N8 ® OBbSad @
42,0 me @) W56 (©

Choose the correct answer from the options given below :

(1) (D) (B). (A). (C)
(2 A). D). ®.©)
(3) (B), (C). (D). (A)
4  (©).(B). D). @A)
Options :
21052929913. 1
21052929914. 2
21052929915. 3
21052929916. 4

Question Number : 130 Question Id : 2105297608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ez B e 588 5 | i1 G,
e jumm @)
?w%y‘:[.ﬁﬂ!:w;&wﬁ (B)
bl ©

CEEUC I

Choose the correct answer from the options given below :

(L) (A, ®B). D). ()
(2 (). A).®B). D)
(3  (B).(C). D). A)
4 (D). (A). (C). (B)
Options :
21052929917. 1
21052929918. 2

21052929919. 3
21052929920. 4

Question Number : 130 Question Id : 2105297608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ez B e 588 5 | i1 G,
e jumm @)
?w%y‘:[.ﬁﬂ!:w;&wﬁ (B)
bl ©

CEEUC I

Choose the correct answer from the options given below :

(L) (A, ®B). D). ()
(2 (). A).®B). D)
(3  (B).(C). D). A)
4 (D). (A). (C). (B)
Options :
21052929917. 1
21052929918. 2

21052929919. 3
21052929920. 4

Question Number : 131 Question Id : 2105297609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



: sadiod) doad Tl om sl hol 8 ) S dlstl ol el s
- e et o = = 4 . ool
cva bl @

UsAlBzee B

Sl sshas (O

Choose the correct answer from the options given below :

(1) (D). (A). (C). (B)
2  (B.(0). @A) D)
(3  (€). D). (B). (A)
4 (A (C). ®B). (D)

Options :

21052929921. 1
21052929922. 2
21052929923. 3
21052929924. 4

Question Number : 131 Question Id : 2105297609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



: sadiod) doad Tl om sl hol 8 ) S dlstl ol el s
- e et o = = 4 . ool
cva bl @

UsAlBzee B

Sl sshas (O

Choose the correct answer from the options given below :

(1) (D). (A). (C). (B)
2  (B.(0). @A) D)
(3  (€). D). (B). (A)
4 (A (C). ®B). (D)

Options :

21052929921. 1
21052929922. 2
21052929923. 3
21052929924. 4

Question Number : 132 Question Id : 2105297610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(A) POSTMORTEM o
(B) INCUMBENT (1) o
(C) SMUGGLING i) Al
(D) HOSTAGE (v) LI NS

Choose the correct answer from the options given below :

(1) (A)-@. B)-). (C)-(i11). (D)-(1v)
(2)  (A)-v), (B)-(), (C)-(11), (D)-(111)
(3) (A)-(11). (B)-(m1). (C)-(1). (D)-(1v)
(4) (A)-(1). (B)-(av). (C)-(m). (D)-(1)

Options :

21052929925. 1

21052929926. 2

21052929927. 3
21052929928. 4

Question Number : 132 Question Id : 2105297610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(A) POSTMORTEM o
(B) INCUMBENT (1) o
(C) SMUGGLING i) Al
(D) HOSTAGE (v) LI NS

Choose the correct answer from the options given below :

(1) (A)-@. B)-). (C)-(i11). (D)-(1v)
(2)  (A)-v), (B)-(), (C)-(11), (D)-(111)
(3) (A)-(11). (B)-(m1). (C)-(1). (D)-(1v)
(4) (A)-(1). (B)-(av). (C)-(m). (D)-(1)

Options :

21052929925. 1

21052929926. 2

21052929927. 3
21052929928. 4

Question Number : 133 Question Id : 2105297611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List I1

Last I List IT
@ ezl o B eedly s
B) e > s (i) o> !
© ol b (i) Jewnzd 18,5713
@) 350! o) ! (v) bawstd3 8

Choose the correct answer from the options given below :

(1) (A)-@i). (B)-(v). (C)-(). (D)-{)
(2)  (A)-Gv). (B)-@). (O)-(11). (D)-(ii1)
(3)  (A-@). (B)-v). (O)-(2). (D)-(111)
4  (A)-@,. (B)-), (C)-Gn). (D)-av)

Options :

21052929929. 1
21052929930. 2
21052929931. 3
21052929932. 4

Question Number : 133 Question Id : 2105297611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List I1

Last I List IT
@ ezl o B eedly s
B) e > s (i) o> !
© ol b (i) Jewnzd 18,5713
@) 350! o) ! (v) bawstd3 8

Choose the correct answer from the options given below :

(1) (A)-@i). (B)-(v). (C)-(). (D)-{)
(2)  (A)-Gv). (B)-@). (O)-(11). (D)-(ii1)
(3)  (A-@). (B)-v). (O)-(2). (D)-(111)
4  (A)-@,. (B)-), (C)-Gn). (D)-av)

Options :

21052929929. 1
21052929930. 2
21052929931. 3
21052929932. 4

Question Number : 134 Question Id : 2105297612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Tast T with Last IT
TLast I Tast IT

@) (P hhis (§B) fbes 0 oAb sles

B) swad > ax0 i) Jbel
© =@ i) CL o
B
(D) U"_J,,_J.'}h_‘ﬁ.-w,:l (1v) Mﬁ.‘ul,;bgﬁ

Choose the correct answer from the options given below :

(1) (A)-@). B)-v). (C)-@1). (D)-1)
(2)  (A)-av), (B)-). (C)-(11). (D)-()
(3  (A)-@). B)-v), (C)-). (D)-(1)
4 (A)-@. ®)-w). (C)-av), (D)-()

Options :

21052929933. 1
21052929934. 2
21052929935. 3
21052929936. 4

Question Number : 134 Question Id : 2105297612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Tast T with Last IT
TLast I Tast IT

@) (P hhis (§B) fbes 0 oAb sles

B) swad > ax0 i) Jbel
© =@ i) CL o
B
(D) U"_J,,_J.'}h_‘ﬁ.-w,:l (1v) Mﬁ.‘ul,;bgﬁ

Choose the correct answer from the options given below :

(1) (A)-@). B)-v). (C)-@1). (D)-1)
(2)  (A)-av), (B)-). (C)-(11). (D)-()
(3  (A)-@). B)-v), (C)-). (D)-(1)
4 (A)-@. ®)-w). (C)-av), (D)-()

Options :

21052929933. 1
21052929934. 2
21052929935. 3
21052929936. 4

Question Number : 135 Question Id : 2105297613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
@ Qsnd! R LTO | e |
® kbl @ 2e ol
© o] Qi) yaddl ol s
O GNwe)l Lol o iv) Al e i) e 4300 BV

Choose the correct answer from the options given below :

D A-@. B)-an). (C)-@. (D)-Gv)
2 (Y-, (B)-a). (O)-v). (D)-@1)
@) W-av), B)-. (C)-@). (D)-(1)
4  A-0. B)-). (C)-(). D)-w)

Options :

21052929937. 1
21052929938. 2
21052929939. 3
21052929940. 4

Question Number : 135 Question Id : 2105297613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
@ Qsnd! R LTO | e |
® kbl @ 2e ol
© o] Qi) yaddl ol s
O GNwe)l Lol o iv) Al e i) e 4300 BV

Choose the correct answer from the options given below :

D A-@. B)-an). (C)-@. (D)-Gv)
2 (Y-, (B)-a). (O)-v). (D)-@1)
@) W-av), B)-. (C)-@). (D)-(1)
4  A-0. B)-). (C)-(). D)-w)

Options :

21052929937. 1
21052929938. 2
21052929939. 3
21052929940. 4

Question Number : 136 Question Id : 2105297614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

P s ole (385 S AR 3o 20! alE)) ot =58

Statement II :
[-E-:.:"‘-" [abm{»:s-’héu‘v“u@ﬁ dbﬁd‘ﬁ@‘wi‘f’;

In the light of the above statements, choose the correct answer from the options
given below :

(1) DBoth Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929941. 1
21052929942. 2
21052929943. 3
21052929944. 4

Question Number : 136 Question Id : 2105297614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

P s ole (385 S AR 3o 20! alE)) ot =58

Statement II :
[-E-:.:"‘-" [abm{»:s-’héu‘v“u@ﬁ dbﬁd‘ﬁ@‘wi‘f’;

In the light of the above statements, choose the correct answer from the options
given below :

(1) DBoth Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929941. 1
21052929942. 2
21052929943. 3
21052929944. 4

Question Number : 137 Question Id : 2105297615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

(aile g3 Gla 2d! ol us 6

Statement II :
[l (620 Gl 2l o) e 8

In the light of the above statements, choose the correct answer from the options
given below :

(1) DBoth Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II 1s false

(4) Statement I is incorrect but Statement IT is true

Options :

21052929945. 1
21052929946. 2
21052929947. 3
21052929948. 4

Question Number : 137 Question Id : 2105297615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

(aile g3 Gla 2d! ol us 6

Statement II :
[l (620 Gl 2l o) e 8

In the light of the above statements, choose the correct answer from the options
given below :

(1) DBoth Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II 1s false

(4) Statement I is incorrect but Statement IT is true

Options :

21052929945. 1
21052929946. 2
21052929947. 3
21052929948. 4

Question Number : 138 Question Id : 2105297616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

Sl elir oLael o $05 o o6
Statement I1 :

Sl el el el 0B

In the hight of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
{(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1= false

(4) Statement I 1s incorrect but Statement II 1= true
Options :
21052929949. 1
21052929950. 2
21052929951. 3
21052929952. 4

Question Number : 138 Question Id : 2105297616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

Sl elir oLael o $05 o o6
Statement I1 :

Sl el el el 0B

In the hight of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
{(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1= false

(4) Statement I 1s incorrect but Statement II 1= true
Options :
21052929949. 1
21052929950. 2
21052929951. 3
21052929952. 4

Question Number : 139 Question Id : 2105297617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

B PENCSAPE

Statement II :
25025 5l 3 ol 31 sl

In the hght of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929953. 1
21052929954.2
21052929955. 3
21052929956. 4

Question Number : 139 Question Id : 2105297617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :

B PENCSAPE

Statement II :
25025 5l 3 ol 31 sl

In the hght of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929953. 1
21052929954.2
21052929955. 3
21052929956. 4

Question Number : 140 Question Id : 2105297618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I :

G o B i g 3 e G st et eyl o

Statement IT :

9N O | U IR Y P-4V P Y RO P

-

5k

In the hight of the above statements, choose the correct answer from the options
glven below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929957. 1
21052929958. 2
21052929959. 3
21052929960. 4

Question Number : 140 Question Id : 2105297618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I :

G o B i g 3 e G st et eyl o

Statement IT :

Bl g 3l e Al oo ) sl ey, le

-

In the hight of the above statements, choose the correct answer from the options

glven below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

21052929957. 1
21052929958. 2
21052929959. 3
21052929960. 4

Sub-Section Number : 2
Sub-Section Id : 210529285
Question Shuffling Allowed : Yes

Question Id : 2105297619 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No

: Yes Group Comprehension Questions



Question Numbers : (141 to 145)
Question Label : Comprehension

503185 Gl ol L) oo el U ) 2] 5 A () i) ,3) 9195

15 ) 0kl 13 (e e R Jab)) SRR | s atidsy oony 553] 06
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Sub questions

Question Number : 141 Question Id : 2105297620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
¢ § 081 ) JaB)) JES) Game 5
LI gltdn Wawb o
Yl e Wil @
Fow sl 38, dpanl)  3)
Lo i)y o N 38l P dpald @)

Options :



21052929961. 1
21052929962. 2
21052929963. 3
21052929964. 4

Question Number : 142 Question Id : 2105297621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: Ay day L) Jab)) (g ) 3l g e oS

oLl @ QUe = (1)
G Ew  (4) e &Y (3)
Options :

21052929965. 1
21052929966. 2
21052929967. 3
21052929968. 4

Question Number : 143 Question Id : 2105297622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

:dabd)) (3 oS U Jik) b (0

SR Ve (2) Band (3 o (1)
Wb (ais  (4) ol 3dg ()
Options :

21052929969. 1
21052929970. 2



21052929971. 3
21052929972. 4

Question Number : 144 Question Id : 2105297623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e JE80 8 () Al o) G A dige B e

‘.7..!:.” (2) ;,_,,“':"._n.i-'a'-” (1)
5, @ slad)l 9
Options :

21052929973. 1
21052929974. 2
21052929975. 3
21052929976. 4

Question Number : 145 Question Id : 2105297624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a1 5051 Jil)) o ggtn) oy sid) (2 L
G adls o dl ()
a—.*?‘;-**“ﬂ?‘?’“,-t-” (2)
Lo sl s o g Bl (3)
G Y s Ao )y (B gl o I @

Options :



21052929977. 1
21052929978. 2
21052929979. 3
21052929980. 4

Question Id : 2105297619 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105297620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



¢ Eﬂwtdlgﬁmgﬁﬂlwﬁﬁl‘

I slan,asle @
WY raldnld @

Gl Gl Pl G

do poeilly o I35 el P Tl @

Options :

21052929961. 1
21052929962. 2
21052929963. 3
21052929964. 4

Question Number : 142 Question Id : 2105297621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ao Ay ) JiBN (o) 30 Aiyone o

el @ Qwe (D)
LI S (4) CRYIC) VNG
Options :

21052929965. 1
21052929966. 2
21052929967. 3



21052929968. 4

Question Number : 143 Question Id : 2105297622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929969. 1
21052929970. 2
21052929971. 3
21052929972. 4

Question Number : 144 Question Id : 2105297623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

led] JB B ) Aok u G g 1 g o B Lo

B @ oeond! @
5! (@ sladll (3
Options :

21052929973. 1
21052929974. 2
21052929975. 3
21052929976. 4

Question Number : 145 Question Id : 2105297624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052929977. 1
21052929978. 2
21052929979. 3
21052929980. 4

Sub-Section Number : 3
Sub-Section Id : 210529286
Question Shuffling Allowed : Yes

Question Id : 2105297625 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105297626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929981. 1
21052929982. 2
21052929983. 3
21052929984. 4

Question Number : 147 Question Id : 2105297627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929985. 1
21052929986. 2
21052929987. 3
21052929988. 4

Question Number : 148 Question Id : 2105297628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929989. 1
21052929990. 2
21052929991. 3
21052929992. 4

Question Number : 149 Question Id : 2105297629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052929993. 1
21052929994. 2
21052929995. 3
21052929996. 4

Question Number : 150 Question Id : 2105297630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929997. 1
21052929998. 2
21052929999. 3
21052930000. 4

Question Id : 2105297625 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105297626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929981. 1
21052929982. 2
21052929983. 3



21052929984. 4

Question Number : 147 Question Id : 2105297627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929985. 1
21052929986. 2
21052929987. 3
21052929988. 4

Question Number : 148 Question Id : 2105297628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052929989. 1
21052929990. 2



21052929991. 3
21052929992. 4

Question Number : 149 Question Id : 2105297629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929993. 1
21052929994. 2
21052929995. 3
21052929996. 4

Question Number : 150 Question Id : 2105297630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052929997. 1



21052929998. 2
21052929999. 3
21052930000. 4



